Summation 3

20 Januar y 2024 10:39

& Compede 2( 5%

o
= Z 1o e {(\Q}
e 300 = BEO
S %(\q i % O s Tauuais

'3,_\ ’—éw __\

\ \
| g / ——R-l |20

0326

{C\L) by i\—wTF

Da C’Q)qﬁ(\) -

wr’

— 2 \c?KQ V‘/\—b >
© O° 2\
)
1o <@m>w\g ) \L>
< 2O
2& > )‘_ \4;‘0 3 e
- | Y wrw= Q
(W =
WD \_\.w‘_\ -

o®o AN e
,kL; Looo>j[(\(—> \3 ELH—\)‘OOQ (l*\—\p)\ — L\* W \> J

\L>o \0\')
(©®0 QQQ ( @} l

g\/*"\*’w\o-g_\\w V\’\DMQ) \;)\j\w\g \—

- OO

letfP P G PNl = Conadloft w N A Aol \AWA:@(WQQ\?) “ D

~

Summation Page 1



vn = O (wadp) » P
LP P 2w %SWMV\QNauww& " P

lce ™

2 =2 | )
]/IC&;—E?Q,\QZQ, 3\4”)——4“:5\)5—\@:\ E\L—AJQ\L 0

%O/ 1, 2,3 640, EQ}JW\WBJAM\rg%KQ\

S bo o PHwR RN

M A %ﬁs& cnd NW Rw\omlv Cw\\m% o wnd M\V\k wa ? \

S A (Qc\)ﬂg = (a0© T ~ng+\> R R AR

T A o
yip 6 b Pl

S et e e ot

\CAD = D(wmlfB
. 3 -
:((wz)%\ﬁirl“:@h’?») Y2 =--- 0 = 0O P
of = o Lwo'i?}
> oft =0\ (wod ?S
\N \bon N T\/\{o)»wv\ —
L\N\oé ?\>

\/«_,
\C'oko«wa/ﬁimwﬂ ?) @

Summation Page 2



'LLY’B = \ L\N\OA j?\

p&\w\} =) Lw\oéjﬁ

| -l o= ) :~\(vw)§/)>

A T D,\\MC "~ ———
=~ ) o2 (p-1) —

%W/\DW\ —\ R oV — O ]
=) 3% -\ ) s @:\)Y\M > 9" - \\;iv&c\&mw
Wede — C gordh ﬁ\»vwé—\\fl ol owd A\W\Q\Q& A o—
\%wz ’ S 3%& &w}\o%em %? %\ 1, \0@0} \ oW
Wek - \(\QQ—) M O

S

Q> gdlobd=l = o e (o) = |

K oL\ CAQO\\D>:\
. &= )P;(\?L - FV\ % 4 NI
h &= %@‘%\i’“——»%ﬁw = Py Y
- \

24 L
= - "
= O\L: %\‘F’L& ,,,?V\
TR A

b,

Summation Page 3



Summation Page 4



